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QUESTION 1

DRAG DROP

Refer to the exhibit above and click on the resource tabs in the top left corner to view resources to help with this
question. The script uses the Cisco Intersight REST API. Drag and drop the code snippets from the left onto the item

numbers on

the right to match the missing sections in the Python script to update the firmware on specific Cisco Intersight USC rack
server.DMZ_R-L3-ADJM.
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[ Sselect Qu HTTP

response

Thi Sselect quary option allows clients 16 request a specilic et of propenias tor éach entity or
complex type. The valua of the Sselect option s a comma-separaled list of property names,

The Sselect option is not Intended 1o be a query filter, For query filters, see the Sfilter operatos

The ability to select which properties are returned in the HTTP response can hain to minimize
natwork traffic betwean the client and the Intersight Web service and improve the padormance of the
client. This can be especially usetul for mobile applcations

Example: Query compute.RackUnit managed objects. where each response managed object is
represanted with three propertios: Vendor, Model, and Serial (instead of having the full JSON output
for compute,RackUnit). Note the *Moid" is always included in the responsa regardiess of what is
specified in the Sselect query parameter

HTTP Responso

HTTP Respoense:
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Logica] 0per4 — _ N3t vinEEDosg

"Equal" Operator

The eq operator returns true if the left operand is equal to the right operand, otherwise it returns false.
The eq operator accepls numeric, dates and string values.

Example: Query RackUnit resources where Serial equals to "WZP211704KM"

Example: Query RackUnit resources where the value of the 'Model' property is equal to 'UCSC-
C240-M58N'

Example: Query RackUnit resources where the number of CPU cores is 24. Numeric values are
specified without quotes.

"Not Equal"” Operator

The ne operator returns true if the left operand is not equal to the right operand, otherwise it returns
false. The ne operator accepls numeric, dates and string values.

Example: Query RackUnit resources where Serial is not equal 1o "WZP211704KM"

Example: Query RackUnit resources where the value of the 'Model' property is not equal to "UCSC-
C240-M5SN'

=

e
# Intecsight REST API Operations
| rackiinit json_body = {
C*request method®:"<ites 137,

*rosource_path": |
‘hittpa://www. intersight .con/apifvl/ '«
'eompute /RackUnits?Snalaotecivom 15"

]

1

firmware json body = {
“request method®:"<icem 1s",
“resousce_path”: "httpa://www, intersight .confapi/vl/firmvare/<ites 43°,
“reguant_body:{
"DirectDownload” i (),
“NetworkShare ™ (
“MapType” ‘v,
“<item 5>":"nw_upgcade_full®,
"HttpServer®: |
"LocationLink™: "http://10.10.10.10/uce-c24imd-huu=
4.0.2h.is0"

be
"UpgradeType" s "<item B=",
"Server":*"

}

)

)

RESPONSE = regquents,request(
method=rackunit json body| 'reqiest methed” |,
url=BURL+rackunit jeon_bodyl ' rescurce path'|,
auth=ALTH

)

firmwara_json body[‘raqueat body'||'Server') = |
jeon. loads (RESPONSE. text) | 'Rasulta’ |[0]( <item Tr']
)

HESPONSE = requests.regoest(
method=firsware json_body|'request ssthod'],
url=BURL+firmware json_body| 'cesource path'],
data=json.domps {(firmware_json body| 'requeat body']),
auth=AUTH
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Not all code snippets are used.

Select and Place:

PUT <item 1>

POST <item 2>

GET <item 3>

Upgradeoption <item 4>

Upgrades <item 5>

Mold.MudeI{%ﬂM;g?E:::g‘;ﬁﬁFMudel ne <jtem 6>

Mnld,Maﬂel,T's;;;r;;!t’;Egj’t:‘fAssetTag eq <item 7>
Moid

network_upgrade

ObjectType

Correct Answer:
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PUT

GET

Mold,Model,AssetTag& '+ $filter=AssetTag eq
VDMZ-R-L3-ADJMV

POST

Mold,Model AssetTag&'+'$filter=Model ne
VDMZ-R-L3-ADJMV

Moid

Upgrades

Upgradeoption

network_upgrade

ObjectType

QUESTION 2

Which snippet presents the correct API call to configure, secure, and enable an SSID using the Meraki API?
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A curl X PUT
—url "hitps:/fapi. meraki.com/apivO/networks/-networkld/ssids/2" \
-H "X-Cisco-Meraki-APl-Key: 15da0c6fiff295f16267f68f08694cf29a86ed87" \
-H "Accept: application/json’ \
-H "Content-type: application/json’ \
—data-raw |
‘name”: "My SSID",
‘enabled" false,
‘authMode™ “psk”,
‘encryptionMode”: “wpa’,
‘psk’”: “meraki123",
‘wpaEncryptionMode”: "WPA1 and WPA2"

}

B curl X PUT
—url "hitps:/fapi. meraki.com/apiiO/networks/:networkld/ssids/2" \
-H "X-Cisco-Meraki-APl-Key: 15da0c6ffif295f16267f86f98694cf29a86ed87 \
-H "Accept application/json’ \
-H "Content-type: application/json’ \
—data-raw {
‘name”: "My SSID",
‘enabled™ frue,
‘authMode": “psk”,
‘encryptionMode” “wpa”,
‘psk’: ‘meraki123”,
‘wpaEncryptionMode™ "WPA1 and WPA2"
y

- curl -X PUT)
—url "hitps:/fapi meraki.com/apiivO/networks/ networkld/ssids/2" \
-H "K-Cisco-Meraki-APl-Key:
15da0cEiiff295i1626 718898694 cf29a86ed87" |
-H "Accept: application/json’ \
-H ‘Content-type: application/json’ \
—data-raw '{
‘enabled”: true,
‘useVlanTagging" true

}

D curl-X PUT
—url “https:/fapi_ meraki_com/apiivO/networks/ networkld/ssids/2" \
-H "K-Cisco-Meraki-APl-Key: 15da0ctiiff295f1626 /168f98694cf29a86ed8 7" |
-H "Accept: application/json’ \
-H ‘Content-type: application/json’\
--data-raw ‘{
‘name”; "My SSID",
‘enabled™ true,

y
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A.B.C.D.

Correct Answer: B

QUESTION 3

Refer to the exhibit.

- AT T e e

-
e R o =t il D - =t
-

Jeavnat 1 | gevnetil.L app.an

Refer to the exhibit A Docker swarm service is currently running m a local data center The service is hosting an HTML
website it the container fads then the service becomes unavailable The design must meet these requirements

The service must be highly available and resilient against a data center outage. The service must be accessible from a
single URL The HTTP session must remain on the server from which the original request was sent Failure of the server
must force the client to reconnect

Which two design approaches must be used to meet the requirements? (Choose two.)

A. Create another swarm cluster within a data center and deploy a secondary instance of the service.

B. Create another node in the swarm duster to scale the service across the nodes over two replicas.

C. Configure an external load balancer to route requests to the swarm service by using session persistence

D. Scale the Docker swarm service to 2 and set endpoint-mode to DNSRR instead of the default value of VIP

E. Configure a routing mesh to route requests to the swarm service by using NAT on the network side

Correct Answer: BC

QUESTION 4
DRAG DROP
Refer to the exhibit. A system administrator has installed a Linux-based alarm system in their home that can execute a
Bash shell script when an intruder is detected. Drag and drop the code snippets from the left onto the item numbers on

the right that match the missing sections in the exhibit to create a chat-ops script that will notify of alarms via the Webex
Teams REST API. Not all code snippets are used.
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Create a Message

Post a plain text or rich text message, and optionally, a file aitachment attachment,
to a room.

The files parameter is an array, which accepts multiple values to allow for future
expansion, but currently only one file may be included with the message.

/vl/messages

Body Parameters A
roomId
string

The room ID of the message.

toPersonId
string

The person ID of the recipient when sending a private 1:1 message.

toPersonEmail
string

The email address of the recipient when sending a private 1:1 message.

text
The message, in plain text. If markdown is specified this parameter may be
optionally used to provide alternate text for Ul clients that do not support
rich text. The maximum message length is 7439 bytes.

markdown

string

The message, in Markdown format. The maximum message length is 7439
bytes.

#! /bin/bash
curl <item 1> https://api.ciscopark.com/vl/messages \
—-H ‘<€item 2>r \
-H ‘=item 3> NMU&NjQDYHUthy_E..._}EbEETd—adTQGaEﬂEle'\
-d ‘{ “<item 4>7: “ciscofusa.net?”, “text”: “Intruder Alertl!l” }’

Select and Place:
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Answer Area

<item 3>

<item 4>

Correct Answer:
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Answer Area

QUESTION 5

Which OAuth mechanism enables clients to continue to have an active access token without further interaction from the
user?

A IWT

B. password grant
C. refresh grant
D. preshared key

Correct Answer: C
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